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1. BEEROER
(1) #¥EIRE
EARUEERAR 500, 000
ERMEZIFR 0
EAMEZIREE 500, 000
HEEEERR 0
BEEEZIFIL 0
ZHMRE 10, 920, 000
EARBRE 8, 160, 000
BEAZRSE 2, 760, 000
ZHENE 5,914,000
ZHHENE 5,914,000
M oUn & 0
HEUREE 0
FEUNEEE 17, 334, 000
(2) BEEHR
BXE 12, 370, 000
% EREN 0
WwHRFEL 2,590, 000
BHELE 320, 000
REE 65, 000
REXEE 640, 000
BIEERE 915, 000
HERE 480, 000
EN IS4 A 2 3,210, 000
EEiE 300, 000
H5E 130, 000
B2N:ul% 3,000, 000
& 620, 000
HE 100, 000
EHE 4,964, 000
% EREN 700, 000
HwRFEY 1, 360, 000
BHELEE 160, 000
REE 725, 000
REXEE 330, 000
BIEERE 100, 000
M EEE 97, 000
HERE 100, 000
FIRI S A& 170, 000
BEH 600, 000
Btk 30, 000
H5E 70, 000
TR AR 55, 000
BZ/N-Fik 132, 000
XIFtE 265, 000
& 30, 000
HE 40, 000
BEEAM 17, 334, 000
B R R L R EIE R 0
BaliEaE Ty 0
LEIRR SR g 0
2. BENMEREOL

(1) #BESUNEE 0
EEIMRIEE 0
(2) BENER 0
BENER 0
LERRE S SR 0
thaEtiRELE 0
L B — AR IE R B EE SR B 0
—RERMESREES 20, 687, 000
— R ERMERRES 20, 687, 000

I {EEEMRMEZROEN
EREEERLE 500, 000
EAVEZIFL 0
EAGEZMELE 500, 000
BEEEERE 0
BEEEZIFR 0
— R ERBME~NDIREEE A 500, 000
L B R T IE R B EE SR BE 0
EEERMESRE RS 180, 000, 000
EEERMERRES 180, 000, 000
I EWREMEHRES 200, 687, 000
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1. BEEBO
(1) #BEIE
HEARMEERE 500, 000 500, 000 500, 000
HEAMEZIFIR 0 0
HEAUEZRELS 500, 000 500, 000 500, 000
YEEEERNE 0 0
BEEEZIFR 0 0
SHEE 5, 460, 000| 5, 460, 000 5, 460, 000 10, 920, 000
EAZRSE 4,080, 000 4,080, 000 4,080, 000 8,160, 000
BAZRSE 1,380,000/ 1,380, 000 1, 380, 000 2, 760, 000
SZMETE 5,914,000( 5,914,000 5,914,000
SWEfFE 5,914,000 5,914,000 5,914, 000
Mo I 0 0
IR 0 0
FEUNEEET 11,874,000/ 11, 874, 000 5,460,000 17, 334, 000
2 #E&EA
EXE 6, 970, 000 5, 400, 000 12, 370, 000 12, 370, 000
& B 0 0
WHEFEL 1,320, 000 1,270, 000 2,590, 000 2,590, 000
BHELE 170, 000 150, 000 320, 000 320, 000
SEE 30, 000 35, 000 65, 000 65, 000
REXEE 320, 000 320, 000 640, 000 640, 000
BIEEWRE 345, 000 570, 000 915, 000 915, 000
HELE 80, 000 400, 000 480, 000 480, 000
RIS A E 1,210, 000 2,000, 000 3,210, 000 3,210,000
Bt ik 140, 000 160, 000 300, 000 300, 000
BNE 75, 000 55, 000 130, 000 130, 000
XL E 3,000, 000 3,000, 000 3,000, 000
RE 230, 000 390, 000 620, 000 620, 000
e 50, 000 50, 000 100, 000 100, 000
EEE 4, 964, 000 4, 964, 000
& B A 700, 000 700, 000
WHEFEL 1, 360, 000 1, 360, 000
BHELE 160, 000 160, 000
SEE 725, 000 725, 000
REXEE 330, 000 330, 000
BIEERE 100, 000 100, 000
BimEENE 97, 000 97, 000
HEMRE 100, 000 100, 000
EEY N 170, 000 170, 000
BEH 600, 000 600, 000
Bt ik 30, 000 30, 000
HNE 70, 000 70, 000
PRI 55, 000 55, 000
BEIN-E =k 132,000 132,000
XHENE 265, 000 265, 000
RE 30, 000 30, 000
e 40, 000 40, 000
BEER 6, 970, 000 5, 400, 000 0] 12,370, 000 4,964,000 17, 334, 000
SEE R SR LR EEEZE [A 6,970,000] A 5,400,000] 11,874,000 A 496, 000 496, 000 0
ER ikt 0 0 0 0 0 0
LR EEELE A 6,970,000{ A 5,400,000( 11,874,000 A 496, 000 496, 000 0
2. BEMERDOE
(1) #BEINEE 0 0
BENIREE 0 0 0 0 0 0
2) #ENER 0 0
BENER 0 0 0 0 0 0
LR EEEE 0 0 0 0 0 0
heEIRERE 0 0
L HA— A% IE R Bf EE B R AR A 6,970,000{ A 5,400,000( 11,874,000 A 496, 000 496, 000 0
— R IEREAE AT S 0 0| 15,000,000/ 15, 000, 000 5,687,000 20, 687, 000
— R IEREBIEHRES A 6,970,000{ A 5,400,000( 26,874,000( 14,504, 000 6,183,000{ 20, 687, 000
I EEEKRMEEROE
HABEERE 0 0 500, 000 500, 000 0 500, 000
HEAMEZRFIR 0 0
HAMESDME LS 500, 000 500, 000 500, 000
YWEEEERNE 0 0 0 0 0 0
BEEEZIFIR 0
— AR IECREAE~DIREEE A 500,000 A 500, 000 A 500, 000
L HAYE TE IE R A EE I R 4E 0 0 0 0 0 0
IEEIERMERE RS 0 0| 180, 000, 000] 180, 000, 000 0| 180, 000, 000
BEEEKRMESHRES 0 0] 180, 000, 000| 180, 000, 000 0] 180, 000, 000
I ERMEHFEES A 6,970,000{ A 5,400,000[ 206,874, 000( 194, 504, 000 6, 183, 000] 200, 687, 000




